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 �������	
�ก�
����ก�	������ ก�����������	���������ก�
������������ !�ก��"� �����#$�	��	���#�ก��� 
10% �(���)�)��$�#����	���ก��� 25%...��		�-�����ก�	$�� �������������ก$ก��.	/0����1� ��	�- ���/�� �������
�2�� ��2!���������$�������	��������� �#��� 
��������������� �#��� ��3��#� 3��#������� �� 
 ��������$����ก N �	5$��/	 1��	�
6��#�/�กก�2
�	ก���75$�����3� ก8�9"�����$���2ก��)��$
!��	
�	 �0��
�����3:-	� $������	-0���	�	$��#5�ก �����5��	����.	1��$�- $�	 �ก�#/�ก�	5$��/	�0�
�;�ก�����ก�
�<5#��/	 ����	0����5��	����)��$���������� (46-0-0) ��2���5��	��9���B$ (21-0-0) 
 $��$���� P B�1B���1 ��/�กก��	0�
�	B�1�B$ ��
#�2����#)1�ก�
ก�#ก0��2!�	 �(����
��#�
ก�#B�1B���ก /�ก	�-		0����0��;�ก�����ก�
���5��	�� /2�#�������� DAP 1�$� 18-46-0 ��2������� MAP 
1�$� 11-52-0 
 $��1�#���� K 5��$1�9��� ��.	���������/�ก���5��$� ������$�� 	0��3���I�2 500,000-700,000 $�	 
��- ���������
�� 5��$� ��� /.���L�����2��#�"�	� ��.	�
�� �
6���2����ML�(#���	#�
$�	N 3� 5�ก �$�กO$�#
�P6
�
�����2ก�� ���/2�#���2��	
�$��0��
��� ���� �$�กO�� ����#�#0��	�	ก������ ��.	���"��������� 
 
���������	
�����
������������������ก�����������กก���������� �����ก���������� 
 3����� Q.�ก���$���M #�.�0�	�/ 1����MR�"�S L���T(������ �M2�กU$� �
����������กU$�Q�1$�� 
�2
� ���� ��!" ���� ����� (������ก$�%&�	���	�'�	) 8 กก., ��������ก� 12 กก., �����.	 14 กก., �����
 18 กก., 
������ 40 กก. �12�������ก 44-70 กก. 56�&2!� 7171���	 �$��ก���������� 1 กก. 
 !��!���������������� �#���� 
	:� �#���-�...�0�$�
����#� �$�$�� !��ก��
 �0��กU$��(���3��
������
ก�	�	��������	 !���0�ก�	�� ����$���	�����
�������กO�#� �(��25���������
6� ���$�� �0�	: !: ��ML�(��2
�����M �$�!���0��กU$���$1�
ก���
�� 3�� ���� ���
�ก ������	������������	�	ก���/2����1��� �!�
$�� ����	�����M��ก !���0��� ����#� $�� 9�-��3��� $�	��	/2�( 
�V��.../�� ���/��  �� ��9�-������#��#� 
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 1!�	ก��M�	-0������	(�-	���L���$��I	�-!�����
	�ก��ก��ก�I
	:�  �� ก�2��� �กU$���21
ก�M� 
1���$����3(�-	���ก���กU$��#���
)�ก�2�
 M ��	��� 9 �.�.60 ก��� 9.8 �1	��� �กU$�ก��#���
����
�1��
�� 391,500 ��� ���� ��กO$�� �	
� (�-	���	�-		-0�������#� ���� �� ���	�"�
#�ก��1� �1���
ก���กU$� Y1���� ��6M� ��ก��Z 
�ก��� �#�/�#�0�3������� ����ก�� �(����
��0��	2	0��ก��กU$�ก����
�#���
)�ก�2�
/�ก���กL���	ก��#���1�	���)��	�2�2$��  N �$��
O	������ 	�-	-0�������#�������V(�2���#�
���)�
�� 	-0��# �(�������กU$�ก�/2	0����;�
�$��#� 
 ก��/�#ก��1�	���)�
�� 	-0��# ������2#�
	-0��	1�	���)�������#� /	ก�2��� �กU$�ก�1����!�#�	
�3�����;�
�$� �	�#����� ����� 10���6����กU$�ก�$�� �;�
�$�$���� ��� ก��$�#�$� ก�� (����ก�
ก��B[\	B�����
1�
��M��
��ก�$�	5#���O�$���� 9:� กO����������� ��ก���/2#0��	�	ก�� ��"��;�
�$���#� 	�- 
 1.$�#�$� ก�� ��2�� (���
�� 	-0��# �����#�	������
�  $�#�$� ก��  5#�����
�ก� ก�� ���V�ก 
�ก �
�����V� 
�	�	�:
 ��2ก�� �������L���	�� (�������
����#���
�1 �##��ก �(��2�
(�ก	�-��� ��
������#�
����#�	��� 
�$�ก�	��
����ก �����- $�#ก�� �
6���ก
�� �(����#�� �2�2/�ก�� �
��� (���5���  ��.	ก���#ก�����
	-0�3� (�� ��2��� �
�(���$ก�
�
����O�3:-	 
�ก��$�	���)�5��	��� ���$�#�$� ก�� ��2(�� $�	���)����5��	���
$�- �
�$� �0�����-0���	�����
#��	 
�ก�� ��)�$�#�����
�$�#)���ก �(�������
���� 1����
�����/2	0���B[\	B�
��ก��2�0�$�	 
 2.B[\	B�����1�
��M��
�$�	���)�
�� 	-0��# �กU$�ก���������
����)�B[\	$����O�3:-	 #���ก��V�#(�	
������ �
�
��ก����)� �(��2�2

��ก�� ���1����!#�#	-0���2"�$���
��/�ก#�	�#�$���ก$� ������ �
��/
�������	-0�1�$� 12-12-12 
��� 12-9-6 
���/2��������ก�O#1�$� 21-21-21 
��� 16-21-27 �2���	-0�V�#(�	กO�#� 
/�ก	�-	�����#�	�
� ��.	�ก$� ���(��	#�	�
��ก����)� �(����(�����ก9��/	�
��ก���ก(�� �0��
���ก(���$ก
�
���#�#�3:-	 �����- �1�����
0��� ���)�#��� 



 
 
 �	1�	���)� 
�ก!�ก	-0�����	�	N 
�� 	-0��#��ก�ก�#�P6
�5����ก�	�� 5�	�	�� ����]� ก�	��กU�
#���ก����# 
�����5�	$�	���)�#���1������ก�	�� ���	 ��$$���ก9�� (��5#���) ��5B�9��-�����	��� (����
���) 
��� (�9���O	
� (�����#����, 
��1��5��) 
���1�����L�M �̂ ���	 �$�5��#����� 
���/2���
��� 
1L�(3� #�	����
��
��2$��ก���ก�#5��5#�ก��5����	3�� 
���5#5����� �(����
�#�	��1L�(��.	#�� 
��Oก	���กO�#� 
 (�-	��������21
���กL�� �����	-0��#���� �กU$�ก�1����!���ก(���#�$���ก$� �$�1�� 10���6���$�� 
�;�
�$��2��#�2�� ��.	(��QU��� $�� #����(�-	����#�����/2���ก(��	�-	��.	���� �� �� ��	-0�����3� 
������ �(���/2
�#��$����#�	�#��
��21�ก��	�0�ก�����ก(��� ���#� 
 ก������� ��ก+��5����.�'
������01������	
.,'� 6�'57����+�� 3+��8�����'
���	0
 3+�6*'
5����

��
������01���	ก5�� .,9�1��+'�,	
��ก���+��5����.�'
 :-�
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��
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